
AP Calculus Exam Prep Assignment #4 KEY page 3 
15)  

    

! 

3x + 5

(x " 3)(x + 4)
=

A

x " 3
+

B

x + 4
#

A + B = 3

4A" 3B = 5

$ 
% 
& 

# A = 2, B =1

2
1

x " 3

' 

( 
) 

* 

+ 
, dx

4

5

- +
1

x + 4

' 

( 
) 

* 

+ 
, dx

4

5

- = 2 ln x " 3 + ln x + 4[ ]
4

5

= 2 ln 2 + ln9( ) " 2 ln1+ ln8( ) = ln36 " ln 8 = ln
9

2

      D) 

 
16) Which of these indefinite integral requires the method of REPEATED integration by parts?  
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A) 0 B) π/2 C) π D) 2π E) N.O.T.  
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20) Which of the following improper integrals diverges?  D)  
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